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- This Booklet contains in all 120 objectivetype questions with

multiple choice answer comprising of the following:

Section-A: Mathematics-40 questions

Section-B: Part-I: Translation from Odia toEnglish-20 questions
Part-II: Re-Translation from English to Odia-20 questions
Section-C: General Knowledge on Excise Matters-40 questions

. All questions are compulsory and carry equal mark.
. Before answering any question, checkup the Booklet and ensure

that it contains 28 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

. The Invigilator shall supply you the blank OMR Answer Sheet

separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point pen only. You must write
the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

- A machine will read the coded information furnished by you in

the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

. These instructions must be complied with fully failing which your

Answer Sheet will not be evaluated and Zero mark will be
awarded.

. Answer must be given by completely blackening one of the four

circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pen only. Answers not shown by
black/blue ball point pen shall not be awarded any mark.

. Failure to hand over the Answer Sheet to the Invigilator before

leaving the examination hall/room will make you liable to penal
action.

. Read carefully the instructions of answering each question before

mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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SECTION-A
(MATHMATICS)

Read the following questions carefully. Answer each of them by choosing the correct one out four

multiple answers given under each question as A, B, C & D and blackening the appropriate

circle/oval given on the right side of the OMR Answer Sheet by Black/Blue ball point pen only.

Correct answer to each question carries 72 mark.

FORYe 999ea 99 ALRER Tegl ATIRE IR J6RYR d4a S76a @, ¢, 9 9° @ e
Foldipgel Gad Qeadee 908 29T 0U98a 6.NF.AIR AWNTER QI2Idg el
A0RQQ/ALIQEY 6997 ARIAIR ANANE ANFAR FFAR JERIRR Qe @Al g6sie Jea
A0 2eQdIQ €A e Gk |

1. Conversion of 0.0175 in % is:
A)17.5 B)0.175 C) 1.75 D) 0.0175
0.0175 @ SRR [6Q ISl @6m 6060 69Q ?

Q) €9.8 &) 0.098 q) .98 @) 0.0€98

2.3599.04 +89.976+7% of 19x10%=?
A) 163 B) 137 C) 173 D) 189
Q8CC + [C.C99 + ¢ Q 9% x Q0%=?

@) €99 6 ) eq9 ) €99 Q) erc¢

3.Salary of A, B, C are in the ratio 3:2:1. Salary of A &B together is Rs.60,000.00. By what % is
salary of A more than C ?
A) 150 B) 100 C) 200 D) 300
‘@, ‘e G 'd @Q Al aAQdle 3:2:1 2 | ‘@ B ‘¢l @ oafl 78 ¢.60,000.00
626m,'@’ Q QaFl ‘a’ QQAIoIQ §eRe! 6960 698 ?

@) ego 6l)eoo 6l) 900 Q) q100

4Decimal of V4 is ?
A) 25 B) 0.25 C)2.5 D) 0.025
/8 § QeIFinea OR8IC REM 6R6C 62@ ?

@) 98 &) 0.98 ) 9.8 Q) 0.09%
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5.Rama’s annual income is Rs.4,20,000.00. His annual savings amounts to Rs.60,000.00. The

ratio of his monthly savings to expenditure is ?
A) 1:6 B) 1:7 €X1% D) 1:8
QAR @d @ 2ld, 6.¥,90,000.00 G | QQIUQ QIf@ Q8Q ©.90000.00 266 | PR FIdR
Qgd, G ¢6 Q 2AQPAIG 6060 629 ?
@) €:9 ) €:9 q)e:8 Q) err
6.1/2 + 1/5 - 3/8 = 13/40 + X. Find the value of X ?
A)2/3 B) 67/40 50 D) 6/40
R/9 + ef8 - Q[ = eqfgo + X | X' Q ¢RY 6060 62Q ?
Q)9 At e B D D A B o) o Q) 9/¥0o
7- A radius of a circular playground is 21mtr. One monkey covers 3mtr. in one jump and takes

one minute rest in between consecutive jumps. Calculate the total time of rest the monkey will

take for covering the circumference of the playground.

A) 44 min B) 43 min C) 42min D) 66min
661N 6EIRIRIQ 66iR ABAIQ QYIS 21 Fea | 66T AIFE 2ase 3 Feq eRdlsa 8
Joea 60RQl J6a RURCA Bgir Al 68 AR gal Ry @ 209 @Al AR AIFE

6060 ARG Q 9glF 6pQ |

@) ¥EARe ¢) w9 Foe ) ¥9 fRe q) 99 Afe

8.How many odd numbers are there in between 151 & 169 ?
A) 11 B)9 C)8 D) 10
e8Q (B RIC CIIEA 6R6QIT 2gg Q°ail 2@ |
@) ee ¢) ¢ Q) r Q) €o
9-How many three digit numbers can be formed by using 0, 1, 2 without repetition.
A)6 B) 4 C)8 D)9
0, @ B9 @ 69R SMERIT OF aw QY A°ell 62IRARe | 6wlsd a8 a°GH @ geIgR
620 QI@ |

@)9 &)y or Q)¢
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10.The length & width of a rectangle is increased by 50%. What is the percent increase in area

of the new rectangle over the original.
A) 200% B) 225% C) 250% D) 400%
66N SIOR QIR mg G dg @ doael 80 QRIA Qeliclem, Qe 2IKORIl 6”AY

6RQTM ¢ Lo 6AQXTRNA SR 6960 QR ?
@) 900% ¢l) 998% Q) 980% d) ¥oo%
11.If the ratio of the area of two squares is 3:27, then what is the ratio of their perimeters ?
A)1:9 B) 1:81 Ch1:3 D) 4:36
A% 920G 9069 6ASTRR AQUIS N:99 94, 6662 6AAIFFA TR 2GS 6269 ?

@)e:¢ d)e:re Qne:M Q)¥:Nn

12.1f the volume of 2 spheres are in the ratio of 8:125, then the ratio of their area is ?
A) 2:5 B) 16:250 C) 4:25 D) 25:4
A0 QR QAQ AATRA 2QUIe MR8 9\, 606 6AFINE 6ATRA QIR 6060 ?

@)9:8 6)e9:980 G)%:98 )98y
13. When a seller sold a phone at Rs.3750.00, he got a loss of Rs.250.00. What will be the sale

price to get a profit of 30% ?
A) Rs. 4000.00 B) Rs. 5000.00 C) Rs. 5200.00 D) Rs. 4630.00
66IGN 6IR @ G91980.00 6Q F@AIQ G'980.00 VG 62M | 6R60 CHIER Qmeem €0

do¢o mIa 6Qixalgl ?

@) ¥ooo G ¢l) 8ooo Gl 6l) 8900 G Q) ¥9q0 o

14. I got 16 numbers of one rupee & 50 paise coins from a shop in exchange for Rs.10. Then

how many number of 1 rupee coins I got ?
A) 10 B)6 C)4 D) None of the above
¢q 66iGel 6QIRIPQ 0 @ QERER € @Al B s0 ARAIA ¢l FeR €9 § ol Alm|

6060 ¢ e@Ra QI 696016 ARM ?

@) eo ) 9 ) ¥ Q) 6al6@6 @ Q6w
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15: The result of multiplication of two numbers is 380. One number is 4 more than 4 times of 4.

What is the other number ?
A) 17 B) 18 C) 19 D) 20
QAG Q@ Q gacrR Qro | 66N Qe ¥ Q ¥ gEIQ ¥ 2@ | 2ARY 6T 6060 ?

@)e9o o) er q) ec d) 90

16. The sum of age of 5 children 4 years back was 72 years. What will be their total age after 4

years ?

A) 92 B) 80 C) 97 D) 112
8 Q6 Jnie @ ¥ od g6 @Ad §8 99 od gmil ¥ od J6Q 6a¢IRE Q @A (8l @60
62Q ?

@) ¢9 ¢) ro Q) 9 Q) eeé :

17. There was food for 18 days for 35 students in a hostel. 5 of them shifted elsewhere. Now the

remaining students will finish the food in how many days ?
A) 15 B) 21 C) 30 D) None of the above.
66IGN RIBIRIA 6Q N8 REl VIPFA I BAQ GIRYYRI FACIRE FRIQ 8 K6 ARG SIMARIQ

Qg 6lQig 2e8Y 2Ip 6960 BR6Q HIRER ?

@) €8 &) 9 gl) €0 Q) 6xled G @ Q6@

18. The present age of Sita is thrice the age of Geeta. Three years after, the age of Sita becomes

twice the age of Geeta. What is the present age of Sita ?
A) 3 B) 12 19 D)6
QAAIR A1PIQ @A F1PIQ QAL 9 gél | a od C6Q, Q1P QLA G10 @AAQ 9 Qgél 69|

QAFNR AP @A 6960 ?

@) 4 &) €9 |) ¢ ) 9

18. HCF of two numbers is 8 and LCM is 24. What is the result of multiplication of the two

numbers ?

A) 144 B) 192 C)24 D) 96
QR @Gl Q6. A. g T Ba. . g ¥l el QREQ GEITR 6960 ?

@) e¥y¥ o) ee9 Q) 9% Q) ¢9
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20. Difference between 0.4 and 0.4% ?

A)0 B) 0.396 C) 0.36 D) 0.0396
0.¥ B 61690l 0.¥ AEq ARy 69667

@) o ¢) o. ¢ 6l) 0.4 @) o.081¢'d

21.Hari has 25% more money than Shyam. Shyam’s money is less than Hari by what percentage ?
A) 25 B) 50 C) 20 D)2.5
20Q OF UIFQ SFl Ol 989060 2R | 6069 GUIFQ Sl RA0IQ 68660 Jo6E @
elec ?

@) 98 ) 8o gl) 90 d) 9.8

——22.1f1111x1111= 1234321 then what number multiplied by that number is 12345654321 ?

A) 11111 B) 111111 C) 1111111 D) 11111111

QB eeee x eeee= @MYL @V, 606@ 67E A°GMIER 608 A°ail QEER FOTR
09N¥BIBENIC 62Q ?

@) eeeee 6l) eeeeee Gl) eeeeeee ¢) geeeeees

23.Find the smallest number which when divided by 4 & 5 gives remainder 1 in each case but it

is divisible by 9 ?
A) 171 B) 61 C) 81 D) 261
62 Foor a6l @ ¥ B 8 QI QUG @M JOIREQ © QIGlesd QR A ¢ QA Wiel

—~

P66 QUCEET 78 QB QIF ?

@) e9e ) o€ ) re Q) 99¢

24. What will be the rate of interest if, Rs. 52.00 is the simple interest for the principal of

Rs.325.00 in 4 years ?
A) 4 B)5 03 D) 13
6000l Q¥R 6@60 21 Qo Qe 6.9198.00 Q ¥ od6a aam Qo 89 Ol 62Q 7

@) ¥ a) 8 gl) a Q) eq
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25. The average age of 36 students in a class is 14. When the age of one teacher is added to the

total, it exceeds the previous average by 1. Find the age of the teacher.

A) 55 B) 51 C) 45 D) 50
66IIGN 66161Q 919 R6l TRIF AR QA ¥ @ | F66l Jlew QUd 6AFINE @Ad A86
feim d6a Q2R @Ud € od QRN | 6060 JRNFA QUd 660 ?

@) 88 ¢l) 8e Q) 88 Q) 8o

26. Cost of 5 pens and 6 pencils is Rs.39.00. Cost of 6 pens and 5 pencils is Rs.49.00. Then find the

cost of 2 pens and 2 pencils ?
A) Rs. 18.00 B) Rs. 16.00 C) Rs. 20.00 D) Rs. 10.00
85 omF B 97 6URTMR QIF G.49¢ | 9F AR B 8 T 6JRAAA QlF ¢.¥C | 606@ 9G

aRF B 95 6URAMA QIFl 6060 62Q ?
@) er oel ¢l) €9 ol 6l) 90 Gl Q) eo ol

27.One pot was filled with water. 12 Itr. 250 ml. water was removed from the pot. After that half

of water remained in that pot. How much water was present originally ?

A) 25L.500ML. B) 25L C) 24L.500ML. D) 24L.
605N Q€ @R Q61 gl QEQ 12@ 250 A.A. Of QIReI d6Q Q6 2IQ 2kl 9f Q@I
606Q QEEQ 6060 @R Ml ?

@) 98 @ goo A.@. o) 98| ¢l) 9%¥@ 800 A.m. Q) A

28. What will be the amount for Rs.1000/- @10% simple interest per annum for two years ?

A) Rs. 200.00 B) Rs. 1200.00 C) Rs.1100.00 D) Rs. 1210.00
6000 Q¥ eo% 2Q A QU6A 6'.R000 @ 6wem 9 Qd 661d6Q delmQel 6@60

ame?

@) 900 G| ¢l) €900 G Gl) eeoo o'l Q) e9eo g&l
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29. Age of Radha is 3 times the age of Reena. After 12 years, the age of Radha will be two times of
Reena. Find the age of Radha & Reena after 3 years.
A) Radha-39 & Reena-12 B) Radha-39 & Reena-15
C) Radha-15 & Reena-39 D) Radha-12 & Reena-39
QRIQ QLA AIRIQ QAR 9 géll ZIQ €9 od d6a Qi @AY IRl @R 9 g6l 62Q|

9 od 462 QI & B QIR Q A 6R60 62Q ?
@) QR - a¢ B IRl - €9 o) QI - ¢ G IRl - €8

Q) QI - €8 B QIRl - 9¢ Q) Ul - €9 B QIRI - ac¢

30-If the square of 1/3rd of a number is 36. Then what is the square of that number ?
A) 18 B) 324 C) 219 D)6
661N C°BIQL @/9 Q Q@E 919 6REM AHWITA Q6 6@60 7

@)er )9y gl)oec Q)

31. The average of 5 consecutive numbers is ‘X’. If the last two consecutive numbers from the
higher end are excluded, the average will be ?
A) remain the same B) decrease by 2 C) decrease by 1 D) decrease by 0.5
8 60T @@ Qaiq QQURIA X' 26c | U0 6611 9C Q0 Qe Q°allg gQ Q@ FUAN,

606@ YRIQ RAIALIA 6060 629 ?
@) QR QR ¢) 9 @de ¢l) € @fQ d) 0.8 @fe
32.How much should be added to the smallest 3 digit number for it to be divisible by 11 ?

A)9 B) 10 C) 11 D) 22
00 & Q8g goor a°aiiea 6960 6418 fem G2l €e QI FAURY 62Q ?

@) ¢ 6l) eo o) ee Q) 99

33.10 people finish a work within 30 days. Then how many days 5 people will take to finish that

work ?
A) 60 B) 150 C)6 D) 12
€0 T 6MIQ 66T QIFl @ 9o TREQ Q@7 6069 8 G MR 698 QIFg @60 FR6R

QA6 ?

@) 90 ¢) eso Q) 9 d) €9
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34. Between two numbers, 5 times of the greater one equals to 6 times of the smaller one. If the
sum of both the numbers is 33, find the greater number ?
A) 15 B) 18 C)22 D) 16
QRG a°Gll AUQ Q@ Q¢ Q 8 g6l 646, AR AEHIQ O ¢l 646R| 40 agdl @aQ
6QIITR 99 @9, @9 A°GIIT 6Q6Q ?

@) e8 o) er ql) 99 d) €9

35.Cost of 3 oranges and 4 bananas is Rs.24.00. If the cost of one orange is Rs.1.00 more than the
cost of 1 banana, then what is the cost of the orange ?
A) Rs. 2.00 B) Rs. 4.00 C)Rs. 3.00 D) Rs. 5.00
196 ARl B ¥G Q@1 Q gmY 9% 6Fl 26| U6 66T @Rl Q FARY 66T @R Q
MIOIQ € @l e N, 606@ 665N QARIQ MY 660 ?

@) 9 ol ¢) ¥ ol Q) a ol d) 8 o

36. When the product of 19 & 13 is divided by their difference, the remainder will be
A)0 B) 2 C)3 D) 1
eC B 04 Q YEITR @ FAFINE Q 2PQ QIR FAIRG KM, WGEEV 6266 62Q ?

@) o ¢) 9 Q) a Q) e

37.1n a class of 40 students, 1/4 of the total students are good in swimming, 3/8 in table tennis

and the rest are good in archery. How many students are good in archery ?
A) 15 B) 18 Cy19 D) 21
661N QIEQ Yo @&l |l ALY | OQUQ €/¥ Qe !IQ JLAIER QM 6RIRSQI 696w, A/

QS 60QM 66RTER QM B QY FlIER UPETRER QM 2T | 606Q UPFTAER 6060 Rl am
2eg |
@) e8 ol) er g) ec Q) 21

38. The sum of the squares of two numbers is 3341 and the difference of their squares is 891. The

numbers are:
A) 25, 46 B) 35, 46 €D 25,36 D) none of these

QA% AHIQ SFIQ CATTR NNY UG 6AAINE AT ABQ [ ¢ @ | A°TH 90E 2Rl:

@) 98, ¥ ) N, ¥ q) 98, N9 Q) AIAT FIQ 676G Q6%
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39-The population of a city is 3,00,000. If the rate of birth is 5% & rate of death is 3% of that city,

then what will be the population of that city after two years ?

A) 321120 B) 311220 C) 312120 D) 322110
661N QA 6mIe Q°eYl 3,00,0001 @ @P QA 5% G FQY I 3% 6LIRAN 606Q 2
od Q6q 690 ARQQ EMIR A 6R60 629 ?
@) 919€e90 ) 91e€990 ¢l) @me9e90 Q) q199€eeo0
40. The minimum marks to pass in an examination is 33%. One student got 220 marks but failed for

11 marks. What is the total marks in that examination ?

A) 800 B) 700 C) 900 D) 600
66lIcN ARIBIER Y @AQI IR AGRE AR 6FI AFAR 33% | K68l BIG 220 AAR QY

11 AgR AIsl 67R 62RI | 6669 ANAIER 6AIS' AER 6760 2RI ?

@) Moo &) 900 o) Coo @) 00

SECTION-B
Translation & Retranslation
PART-I. Read the following sentences in Odia carefully and select their correct translation

into English from the four answers given under each question as A, B, C & D.

Qamee GPal QIQY gFQ U9 JLRIEa JQ 99 g66Ye ¢ 96R A, B, C G D

QA F2AARYQI 16T QA FIQ 66T 6arieE A0R QACAIRT 2GR GIQl

AR QQl
“-g1geg dsa odiag 2i6a |

A) Rainy season comes after the summer season.
B) Rainy season come after the summer season.
C) Rainy season will come after the summer season.

D) The rainy season comes after the summer season.

42.0dl0Q6a RQTER @RYl ll6d |

A) In the rainy season, flood comes in the river.
B) In rainy season the flood come in the river.
C) In rainy season flood came in the river.

D) In rainy season, flood coming in the river.
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43 oarle 9FQI Y8 QYA 9gR SUIdIR 6RIRMIE

A) Living has become quite a costly affair now.
B) Living has become a costly affair now.
C) Living is become a costly affair now.

D) Living had become a costly affair now.

44.odFIR el6a A2q19Q8 Jadl 90 CIo6R S ARR |

A) In the present age, the process of Urbanisation goes on at a very fast pace.
B) In the present age, the process of urbanisation is going on at a very fast pace.
C) In the present age, the process of Urbanisation go on at a fast pace.

D) In the present age, the process of Urbanisation has gone on at a fast pace.

45.3gIrq RELIA @ AReRIEA gee aGeIdl

A) The History of Science was the real history of Mankind.
B) The history of science is the real history of mankind.

C) The History of Science is real history of Mankind.

D) The History of Science has been the history of Mankind.

.20 @8 od 62Rl AoiRIeaIdt FRAgPRR n QRAR Q|

A) The price of essential commodities have gone up in recent years.
B) The prices of essential commodities have gone up in recent years.
C) The price of essential commodities had gone up in recent years.

D) The price of essential commodities has gone up in recent years.

47.0i0Q QAR FARIFIEIST eroc Adel 26gIea AId 9 6IRd 30 Qg J26 Qs

A) The father of the Nation, Mahatma Gandhi is born on 2nd October 1869.
B) The Father of the Nation, Mahatma Gandhi was born in 2nd October 1869.
C) The Father of the Nation, Mahatma Gandhi was born on 2nd October 1869.
D) The Father of the Nation, Mahatma Gandhi is born in 2nd October 1869.

8. 001 QP6Q 660 AFL 621087

A) What is the time in your watch ?
B) What is the time on your watch ?
C) What is the time by your watch ?

D) What is the time at your watch ?



49 QU0 @il RRERFR 2d6R |

A) The President come to Bhubaneswar tomorrow.
B) The President arrives at Bhubaneswar tomorrow.
C) The President coming to Bhubaneswar tomorrow.

D) President will come at Bhubaneswar tomorrow.

50.919Q 6QIAIQ QIF 6Q¢RE |

A) Doctor is seeing the Patient’s pulse.
B) The doctor is looking at the Patient’s pulse.
C) The doctor is feeling the Patient’s pulse.

D) The doctor is examining the Patient’s pulse.

Sl oReol a2q 29R 991 @R6R 2ed0 |

A) Kolkata is near river Hooghly.
B) Kolkata is at river Hooghly.

C) Kolkata is beside river Hooghly.
D) Kolkata is on the river Hooghly.

%2 9d66a GIRQ! QIR GFIA ZIRIFIAR RS AR |

A) You needed comfortable shoes for walking in the hills.
B) You need comfortable shoes to walking in the hills.
C) You need comfortable shoes for walking in the hills.

D) Your need comfortable shoes for walking in the hills.

53.QIe B @l 661G\ Qae GlleY |

A) Rice and Dal are a balanced food.
B) Rice and Dal is a balanced food.
C) Rice and Dal are balanced food.
D) Rice and Dal is balanced food.

54. 21661 68AReR CRERl 6eRg CIF 8IF eaeml |

A) By time we reached at the station, the train left.

B) The train left, as we reached at the station.

C) By the time we reached at the station, the train had left.
D) By the time we had reached at the station, the train left.
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55.9 goQ 21990 dg a6 gQéll |

A) All the furnitures in this house are very old.
B) All the furniture in this house is very old.
C) All furnitures in this house are very old.

D) All the furniture in this house are very old.

%660 QI 69087 |

A) He has put up his resignation.
B) He has put on his resignation.
C) He has put in his resignation.

D) He has put out his resignation.

57.66lIoN 6961 JRIIAGI GIRIR FRQ 6F G 2IGRURIRG! QIR @ A°0fe @QIIRAIRA |

A) A country's freedom can be preserved only by her own strength and self-reliance.
B) A country's freedom could be preserved only by her own strength and self-reliance.
C) A country's freedom will be preserved only by her own strength and self-reliance.

D) A country's freedom is preserved only by her own strength and self-reliance.

8. QIee10, 6aRd8 QY1 ¥e A9Qee 6aRdel d6G |

A) Indian Railway is the fourth largest railway in the world.
B) Indian Railways was the fourth largest railway in the world.
C) Indian railways is the fourth large railway in the world.

D) Indian railway is fourth largest railway.

59. Q@6 F6IR 6mg igel @Y AIReIQ RO 2R 6RIREMI I

A) The history of literature really begins long before man learned to write.
B) The history of literature really began long before man learned to write.
C) The history of literature really began long before man learns to write.

D) The history of literature really begins long before man learns to write.

%0.odiag 2aa 528 QERdsr SIRRILY 2Ied @9 |

A) Farmers start cultivation with the onset of the rainy season.
B) Farmers started cultivation with the onset of the rainy season.
C) Farmers starting cultivation with the onset of the rainy season.

D) Farmers have started cultivation with the onset of the rainy season.



A/ Page 15 of 28

PART-IIL Read the following sentences in English carefully and select their correct translation

into Odia from among the four answers given under each question as A, B, C & D.

QIRGE QAR QIRIGER JRALRIER AR IQ° G6EIR TEO6R A, B, C G D

QUK FAARNYQ CI6AIT AAQ FRIQ Q6T 6arfliew ade G AFQIQ Qe

eARaq |
61. The battery has run out.
A) Q66R 6010 ARIRMII B) @4l66'Q aReIml |
C) QU6eQ 9t AIR8 | D) @4l66Q aQde |

62. Patna stands on the river Ganga.

A) dIgRl AEFINQT QIR 2QF0 | B) dIgRI GFIRQ1 @R6Q 2406 |

C) AIERI CEIRQT AISER 29T | D) €ISl GIENReT B06R 2680 |

63. What makes you laugh?

A) 24 Q@ AIgR? B) @l@6 2ga?
C) @R ege ? D) @6 29g?

64. We need a good Counsellor.
A) NI 966 M AAUFERIGN QaRIQ |
B) 2IFIQ @66l @M QAR QR |
0) dFa K66l oM QIR dRA QRIQ |

D) 2IfQ 966 am IR HINQIR QaIq |

65. Kalidas wrote Meghaduta.
A) @IRQIA 671Q90 6RYRP | B) @IRQIA 601096 smeejem |

C) @IRQIA 60990 6RYYEA | D) @IRQIA 671990 6RY6R |

66 He will have been playing football.
A) 69 JOOR 66169 | B) 60 Joem 6617 2gejeQ |

C) 64 oM 66MeJ6eQ | D) 69 @oom 66@6Q |

67. The train is on time.

A) 6006 0] AR QIRRE | B) 60@6l@ O) Qadeq Qi@ |

C) 60@0le O argsq Q98] | D) 6e@ale O) aageq Je%e |
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68.1 wake up at dawn.

A) ¢ g6QIgea Q&0 | B) ¢] 9gY86Q Q0 |

C) ¢ 9eI6R Q60 | D) ¢] @uiee6m Q60 |

69. It is quarter to eleven.

A) 6lIee! 9ea fRC 62108 | B) doQ RQ J6Q I6IC! 62 |

C) 6lIRE| J6Q Q] J6Q | D) deq fhg 2idQ eecl Qidml |
70. Ganga rises in the Himalayas.

A) G 2eIReR QO 28 | B) 6lerl @CIRaQ Q2R 28 |

C) ol&Pl DAIRAER @8 2] | D) 6l&Pl BAIRAER Q0L 621Q8 |
71. Glass is a bad conductor of electricity.

A) Q10 4Q g gateiel | ' B) @0 §94Q 65 oAl |

C) Q0 B394 g 2Aed @6Q | D) @le Q4R 6gQ A Q66 |
72. This river is Perennial.

A) 9 Q15 ¢iaegiol | B) 9 Q15 5Q6dIol |

C) 9 915 g¢ A& | D)\ QA1 arqd 28 |

73. For fhousands of years people believed that Sun revolved round the Earth.
A) 99160 oF A 6RIGR AIQEEM QY GgeT BIades ¢ad |

B) od od ¥Q 6mIce QIgelsm 6 A4 9YeT 9IRd6E el |
C) 2010 29I od YA 6RIA QgesR 6a G qge1 oRdIsER Jai |
D) €2 e od A 6RIee QIQEER gt QYT eIAdIsER Jai |
74.1 could not but laugh.
A) ¢ 2@ aieq QI@ | B) ¢ 2d didR f@ |
C) ¢ 2@ A& | D)q @ 2@ cRAGR Q@ |

75. The crane has a big bill.

A) QEQ Rl 691Q 28 | B) QdQ @7l 696 28 |
C) QaQ @9 2ig 28 | D) Q0Q @@ 626l 28 |
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76.1 prefer coffee to tea.
A) 66ll6R Q1 OIQ T am mI6e |

B) 6760 @& ol @I um mieel |
C) 67160 @F B 0l Qm RIGH |

D) 666 @F OIQ 61 adip a9 am M6 |

77.We should be ashamed of open defecation.
A) QI2I6Q QRQI IR 2I6F AR 626! QFQ |

B) Q12168 ARge G4Iel diel 2i6F RFE 6291 AGQ |
C) QI2leq 2AdRGQ GAa Tarel Al 2isA RGO 6261 ABQ |
D) QI2I60 684 dRIRRI dIR 2I6A ARE 6201 QFQ |

78. To remain healthy is a social responsibility.

A) 99 Q8QI Y@ AR @aey | B) 9901 9@ AIFie Qg |

C) 99 Q@Ql Y@ AIARe QIR | D) g9 Q@QI 9@ afIeq @8y |
79. He did not pay heed to my words.

A) 64 67 @2l QR QIR | B) 6@ 671l @2l Q9@ QIR |

C) 64 6¢ll @2l gaRl QI | D) 64 &7l @2l QORI AR |
80. My grandmother is talkative.

A) 661l 626661 Q20 610 @27 | B) 671l 626071 Q96 618 |

C) 601l 606R¢ Q0 Q@) @@ @ | D) 671l 6@6@¢1l Q20 CIF @QF |

SECTION-C

General Knowledge on Excise Matters

Read the following statements and choose the most appropriate of the four answers

given below as A, B, C & D.
81. What is the base material for preparation of liquor?

A) Spirit B) Molasses C) Mohua flower D) Malt
e 9goa aria ald @4 ?

@) gae ¢) 6FImIsId q) F9R T Q) ag
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82. The taste of “Tari” is-

A) Sweet B) Sour C) Bitter D) Sweet & Sour
Qe Q gIe
@) dol gl) sicl 6l) dol Q) dol B ¢ie!

83. The colour of country liquor is-

A) Transparent white B) Milk white C) Blackish D) Reddish
6Qd1 F10Q Q&l -
@) 98 AR ¢) MR QR AR gl) @l Q) Afim
84. The Excise Constables are promoted to the post of-
~_A) Habildar B) Sub Inspector
C) Inspector of Excise D) A.S.I of Excise

2ORIN GERYER FlsR 6a¢ JQQlg J6RIgY dlRIg -
Q) 20RAIQ ) 9@ RRAAgR
) 2RI ARACARR Q) 2eqIal .Na.AR.

85. Arrange the following positions of Excise Department in ascending order.

i) Inspector of Excise ii) Assistant Sub Inspector of Excise
iii) Excise Constable iv) Sub Inspector of Excise
A) 1, i, iii, iv B) ii, iii, iv, 1 C) iii, iv, ii, 1 D) ii, i, iv, 1

20QIQ1 BRIR F6dlg 1991 gPg QIRQ 9 976 ARIR 6mel |

(e) 2eRIql AR (9) Qeeil QAR
() S Q] (¥) 2ealql QIR
@) e 9 9% g9, 9 %, 8 Q)% 9, 8 Q) q 9%, €
86. Who is the Excise Minister of Odisha?
A) Sri Bikram KeshariArukh B) Sri Lal Bihari Himrika
C) Sri Niranjan Pujari D) None of these

GEEIR AeRIQl AgT @ ?
@) &1 Q¢ a1 AQE gl) ¢l AR SR B!

q) &1 faEe LI Q) Iee rQ 608 9ef



A/ Page 19 of 28
87. Which of the following Excise Act/rules is in force in the State of Odisha at present ?

A) Bihar Odisha Excise Act 1915 B) Bihar Excise Rules, 1965
C) Odisha Excise Act 2008 - D) Odisha Excise Rules, 1965

QAR GOsl QURYER 604l 2eRIal 2EA / Gadien olpes ?
@) 9210 GOl 2RI 2T eces @) BRIQ BB QIR BAIeR! 98

o) GRSl 2 2RJFA 9oor Q) BESlI 2RI FAIIRT C98

88. What is the quantity of opium one can poses without permission ?

A) Sgm B) 10gm C) 25gm D) Nil

ARl APAP6R 6960 ARFIER AT K68l B alssa QEaIqe ?

@)59a @106l 6)25ge @) a6l geg
89. Name of the spirit used for wood polish ?
'A) Rectified Spirit B) Denatured Spirit
C) Ethyle Spirit D) None of the above
QIO RS AR Q199 TAT @ AIF Q4 ?
@) 6agaNe gog 8) Gerod gag
q) Raiam gog Q) 6el6QE gew

90.“INTERNATIONAL DAY AGAINST DRUG ABUSE AND ILLICIT TRAFFICKING” is

observed on which day ?

A)Jan 26 B) June 26 C) October 2 D) August 15
"AGRISIL Bl 94 AAMIRRIR G 2T RIQIQ Teql Fea” cad PIAsEQ diRe
@QAULIN] ?

@) IgaIal 99 o) @a 99 6) 26gleq 9 Q) a6q es

91.¢Aska-40’ is manufactured in which distillery ?

A) Umeri Distillery - B) Sakti sugar distillery

C) Boudh distillery D) None of these

BIG-¥0’ 6RaIFR 624G YRR AR @9 |



A/ Page 20 of 28

92. Which date is observed as ‘Dry day’ in Odisha ?
A) August 15 B) January 26 C) October 2 D) September 5
356l 6Q ‘Dry day’ 606 QIQGIEQ AIRR @QUAN ?
@) 20, 15 6l) @l 26 q) e 2 Q) 6a6Qda 5
93. Which liquor is prepared from grapes ?
A) Vodka B) Brandy C) Rum D) Gin
2 QQQ 694 (10 G2UIR g9 7
@) 6QURRI 6) QI& ) Q¢ d) &0

94. For which of the following items, there is no provision of granting sale license in Odisha ?

A) Bhanga B) Ganja C) Liquor D) Mahua flower

6R6 BEIQeY 68 Jin BREIEA RIREAE G2l JeiI 4yl QR ?

@) Qe Slasea o) FQ Q)R TN
95. Who is the head of the Excise administration in a district ?

A) Additional District Magistrate B) Excise Superintendent

C) Collector D) Deputy Commissioner of Excise

PRIER 2RI gaIaRa FelY @ ?
@) 20Qg RAIR gl) eI AR
) SRR @) 20l QUIYY

96. Handia (Pachwai) is manufactured from which of the following base material ?
A) Sugar B) Rice C) Wheat D) Raggi
P2 6pnaQ SR 99 ?
@) 08 ¢) olem ¢l) cled a) g
97.In the urban area, within what distance from the educational institution a foreign liquor “ON”
shop cannot be opened ?
A) 600 meter B) 800 meter C) 550 meter D) 450 meter
53 cslifl (10 IRl APAITRER FMIGYR OIQ 6766 AR ARARS AIF ?

®) 00 FeQ ¢) roo fcQ 6l) 880 foa ¢) ¥8o ¢ieq

98.Sakti sugar distillery is situated in which district ?
A) Angul B) Dhenkanal C) Ganjam D) Boudh
65 96Ia HYRA 606l PRI QYR |

@) 299 §) QIR ql) o Q) eQle



99. Which of the following item is manufactured in a distillery ?
A) Beer B) Wine C) Mahul Liquor
PYRIAEQ AF R FRIQ 604 FAd dge @auanN ?
Q) 2q d) alae Q)FIgR ae
100. Which of the following item is known as Drugs ?
A) Cigarette B) Bidi C) Ganja
00 @ee dQlel CrIQ 696G @6l ?
@) daleae ¢) QG o) cleBIR
101. Opium is manufactured from which plant ?
A) Ganjei Plant B) Bhanga Plant C) Poppy Plant
2ATF 6RLEQ G g9 ?
@) cegim 6L §) QUef g ¢l) ad Qg
102. Bhang is prepared from which part of the Bhanga plant?
A) Root B) Stem C) Leaf
QIR QIEP C12Q 604 2EQ G2AR g9 |
Q) 609 d) Qlg q) ag
103. How many Excise districts are there in Odisha ?
A) 13 B) 30 )31
GESlI QIRYER 6R66 66T 2RI Bl 28 ?
@) eq 6) €0 ql) qe
104. How many Excise divisions are there in Odisha ?
A) 5 nos. B) 6 nos. C) 3 nos.
GEEI QIRYER 6066 66T 2RRIQT FARR QRS ?

@) 8 66T ) 9 60IG ) a 6alE
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D) Spirit

Q) gae

D) Bhanga

Q) Qe

D) Mahua Tree

d) Fgm o8

D) Flower

D) 10 nos.

@) o 66lIE
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105. Arrange the following designation in descending orders ?

i) Excise Superintendent ii) Deputy Excise Superintendent
iii) Excise Inspector iv) Excise Sub Inspector
A) 1, i, iii, iv B) ii, iv, iil, 1 C) iii, iv, 1, il D) None of these

2RI FACA REClg JOQT 9P Q@ @ dIf @6¢ dwIk eme |

i) 2RSS ii) QIR
iii) fuIR iv) QUAUIR
@) i, i, iii, iv §) ii, iv, iii, 1 6l iii, iv, i, ii Q) 6ml6d6 Q@

106. How much quantity of Khajuri Tari one can possess for personal consumption ?
A) 3 Liter B) 4 Liter C) 2.3 Liter D) 5 Liter
@68 ARIQE ERIR BRI 29FE JE6A 6r60 JAFIEIA HEA GIF AR QYERIR AIR AGUIRG?

@) 9 [ ¢) ¥ MR 6) 9.8 @eR d) 8 REQ

107. Which place is not illegal for consumption of foreign liquor ?

A) F.L. (Off) Shop B) Hotel

C) Dhaba D) Licensed Bar
6R¢ QR6a QF FQ JRQl 692IRR Q6w ?

@) OJ QL dQ IR ¢) 62l6em

) @lal Q) RIReAg dig QI

108. What amount of fine can be imposed on the driver for driving in drunken stage ?
A)Rs. 5000.00  B) Rs. 10000.00 C) Rs. 1500.00 D) Rs. 20000.00
(o IR I ORIREA SIRRE 660 6RIAFIRI 66QIg AGQ ?

®) 8000 Q& ) Qo000 G ¢l) egoo ol @) 90000 G

109. What is the base material used for manufacturing of brown sugar ?
A) Ganja B) Opium C) Bhanga D) Cocaine
Qlae gela 6aeQ SR g9 ?

@) ceB@ o) a3 ql) QUeP d) 6aleaa

110. What is the base material used for manufacturing of ‘Charas’ ?
A) Ganja B) Opium C) Bhanga D) Modok
0QQ 6aeR)Q SR 99 ?

@) cleBR o) a4 Gl) QUeP d) eqlee



111. What is the limit possession of bhang for a common man’s consumption ?
A) 120gm B) 100 gm C) 75gm D) 125gm
W66l ARIGEl 6MIN Q1ERIQ diel 6966 ARAIE QI AR IR QAR ?

@) €90 gliel ) eoo giA o) 98 gliel Q) €98 gliel

112. What is the limit of possession of foreign liquor for a common man’s consumption ?
A) 2 Liter B) 3 Liter C) 2.500 Liter D) 1.500 Liter
@661 ARIQE 6MIR QYRLIQ AR 6860 JAFIER F6a61 A B AlNsa QYaRER ?

@) 9 [Q ¢) 9 [eQ 6) 9.800mEQ Q) e.800me'R

113. From which base material Mahua Liquor is prepared ?

A) Rice B) Gur C) Mahua Flower D) Mahua Seeds

 AgR A0 cRdzQ GEIR g ?
?) claw o) g Q) FER I Q) fem A&
114. Which of the following is a drug ?
A) Liquor B) Tadis € Blienen D) Gaija
Qe REe FIQ 604 6a1Te @4 2lse ?
@) ¢Q ¢) oI o) QUeP d) g6
115.Hasis is a drug available in which form ?
A) Solid B) Liquid C) Semi liquid D) Gaseous
2144 @6l 604l 20gI6R AARY ?
@) @0 ¢) oam ) 28 oo Q) QyiaL

116. Can “Ganja” be cultivated at any place any time ?
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A) Yes B) No C) Limited place D) None of the above

cleEm OId 6a6I6d gIRea B 6a6aIEd Afgen faIlQ QB9 & ?
Q) @ o) @l q) P8 g Q) 6al6de Qew

117 Which drug is used for medicinal purpose for patients with advice of Doctor ?

A) Ganja B) Opium C) Bhang D) None of the above

606l @og GAYGIES 6RIATF @1R2Ia die PIge AqIFd ceRag ?
Q) ceER ) ade o) QUeP Q) 62l6dd Qew



118. Which of the following is not an intoxicant ?

*****X*****

A) Handia B) Liquor C) Gur D) Ganjei
GORYE FIQ 6RGE FAIFM 6% ?
Q) Q& §) AQ Q) ge ) J6aR
119. From which part of the ganja plant Ganja is prepared ?
A) Leaf
B) Root
C) Flower
D) Flowering and fruiting tops with seeds
C6ER C1RQ 66 QAIQIPQ gg@ @QAUAN ?
@) 98Q
&) 60QQ
5) gRg
Q) TR, IR, 29 G ABQ
120. Which disease is caused by frequently taking liquor abnormally ?
A) Asthma Disease B) Liver Disease
C) Fever Disease D) None of the above
AR FQYeLRR @Em 6@@ 6QUG 6QIReIN ?
@) QI eqlel ¢l) JQe 66!
q) 9a Qsl6l Q) 6al6A6 Q6@
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